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1) LiCH2NC; TBSCl, 
    THF/HMPA
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2) NaOEt, i-PrBr
3) Br2 (2 eq) then KOH
    then HCl aq.

4) SOCl2 (2 eq), MeOH
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5) molsieves
6) AgBF4
7) MeOFt, then KB(Ot-Bu)3H
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8) SmI2 (4 eq)
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9) Et3N, SOCl2
10) DBU
11) H2, PtO2, AcOH

12) NaBH4, iPrOH

step 3: name reaction?
            propose two possible mechanism!

step 6: name the intermediate!

side product?

MeNO

H

O
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O O
TMSO

CH(OMe)2

1) MeMgCl, FeCl3, TMSCl
    Et3N
2) CH(OMe)3, BF*OEt2
3) LDA, TMSCl

4) mCPBA, NaHCO3

O

O

OMe

Me

H

H

5) PTSA, CHCl3
6) CuI, A, then TMSCl
    and Et3N

7) NaI, mCPBA, THF
8) Bu3SnH, AIBN, THF
9) TFA, PhH

OH
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H

H

OH

O

10) mCPBA, BF3*OEt2, DCM
11) DBU
12) BH3*SMe2, 
      then H2O2, NaOH

13) MsCl, Et3N
14) NaN3, 18-c-6, DMF
15) CrO3, H2SO4, H2O, acetone

16) PPh3, THF
17) NaBH3CN, HOAc, MEOH
18) (HCHO)n, H2O, HCO2H

A:
TMS

MgCl

step 3 +4 : Rubottom Ox.

step 18: Eschweiler-Clarke-Metyhlation
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